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In circuit a, bulbs A and B are identical. How does the brightness of bulb B compare to that of A?
A. brighter
B. dimmer

(C. equally bright > same T y Same R => sSame P-‘-‘ IaR

How does the brightness of bulb A in circuit b compare to that of bulb A in circuit a?

citeait b has half +he Rega;,,qh,ﬂ_@ Twice the

B. dimmer cuctent

C. equally bright
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25.29 + When switch S in Fig. E25.29 F E25.29 s .S =

is open, the \foltmcttcr Vv rcad}; 3.08 V. o Py _Gﬂ,}i @ I.Cloﬁed "-I-R MSA
When the switch is closed, the volt- %

meter reading drops to 2.97 V, and the £
ammeter A reads 1.65 A. Find the emf, |
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the circuit resistance R. Assume that the
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25.38 * A battery-powered global positioning system (GPS)
receiver operating on 9.0 V draws a current of 0.13 A. How much
electrical energy does it consume during 30 minutes?
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Figure P24.60

24.60 - Each combination of
capacitors between points a and
b in Fig. P24.60 is first con-
nected across a 120-V battery,
charging the combination to
120 V. These combinations are
then connected to make the cir-
cuits shown. When the switch §
is thrown, a surge of charge for
the discharging capacitors flows
to trigger the signal device. How
much charge flows through the
signal device in each case?

24.61 + A parallel-plate capac-
itor with only air between the
plates is charged by connecting
it to a battery. The capacitor is
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